Linear algebra notes, Arun Ram July 26, 2023

Topic 1. Examples 2 and 3 and 4. Let us solve the equation
2 =1\ (xz\ (3
1 1 y) \0/J°

_ 0 1 _ 1o
ne™ = <1 —C> and dlers )™ = (CB 621) '

Multiply both sides of the equation by 31(2)~! to get

1 1\ (xz\ (0O
0 3)\y) " \3)
Multiply both sides by d(1,3)~! to get

1 1\ [/z\ (0 S y=1
<0 1> <y>_<1)’ which gives =0 —y=0_1=_1.

Let

So
(17 6)-6) -1
Let
yi(c) = ((1: é) and  d(c1,c0) = <001 CO2> '
Then
G _11> =1(2) (3 ;) = y1(2)d(1,3) ((1) D = y1(2)d(1,3)z12(1) - 1.
Thus, if

2 -1 1 0
A_<1 1> then A=P 1, where 12_(0 1>

and P = y1(2)d(1,3)z12(1) in M2x2(Q).

Remark 10.1. The process of solving the equation has computed

o) () - () ()
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